

名前

1 $(1+8)-(8-2)+7 = 10$
 ()の中を先に計算します。そのあと 前からじゅんに 計算します。

2 $(4+5)-(6-3)-5 =$

3 $(7-4)+(3+3)-5 =$

4 $5-(8-5)+(6-2) =$

5 $(7-2)+(3-2)+3$

6 $(4+5)-(6-4)-7 =$

7 $9-(2+3)+(9-9) =$

8 $6-(8-7)+(6-2) =$

9 $5-(2+2)+(3+6) =$

10 $3-(10-8)+(2+7) =$

名前

1 $9 - (2 + 5) + (9 - 6) =$

2 $8 - (7 - 5) + (4 - 2) =$

3 $10 + (6 - 6) - (3 + 4) =$

4 $(8 - 4) - (8 - 7) + 4 =$

5 $(7 - 3) + (10 + 3) - 6 =$

6 $(5 - 4) + (3 + 4) - 5 =$

7 $(5 - 4) + (10 - 9) + 4 =$

8 $(4 + 4) - (8 - 6) - 4 =$

9 $(2 + 4) - (6 - 3) + 5 =$

10 $(10 - 3) - (10 - 8) + 5 =$

名前

1 $(10-5)-(3+2)+9 =$

2 $(2+3)-5+(8-2) =$

3 $(3+7)-(2+3)-4 =$

4 $(3+7)-(9-4)+2 =$

5 $(7-3)+(10-6)-8 =$

6 $(8-6)+(4-3)+5 =$

7 $(9-5)-(8-6)+7 =$

8 $4-(4-3)+(6-3) =$

9 $7-(7-3)+(4+4) =$

10 $9+(8-7)-(9-2) =$

名前

1 $(8-3)+(9-4)-2 =$

2 $(7-3)+(9-4)-9 =$

3 $(6-3)-3+(3+7) =$

4 $(5+4)-(6+3)-6 =$

5 $(4-2)+4-(10-7) =$

6 $(3+6)-(10-9)+6 =$

7 $(3+3)+4-(5+4) =$

8 $(3+3)+(8-5)-4 =$

9 $(2+5)+(6-3)-8 =$

10 $(10-7)+(4+3)-8 =$

名前

1 $(10-6)+(2+4)-(10-4) =$

2 $(2+6)-(3+4)+9 =$

3 $(3+6)-(3+2)+(7-4)+3 =$

4 $(4+4)-(6-6)+(4-2)-4 =$

5 $(5+1)-(8-5)-(6-4)+4 =$

6 $(5+4)-7+(2+2) =$

7 $(9-2)-(2+5)+(7-5)+7 =$

8 $10-(10-6)-(4-3)+(1+6) =$

9 $3+(7-4)-(9-7)+(6-5) =$

10 $7+(4-2)-(9-6)+(3-3) =$